1. CunhwUunip wpunwnphsp hwlwagdtphlu nnpu pbpdwt Bnwbwy
op. 2ab-3ac+a? = a(2b-3c+a)
2. Yptwwn pwquuwwnmydwl pwlbwaitph Yhpwenyejndu
on. 49x*-16y°=(7x?)2-(4y3)2=(7x?-4y3)(7x?+4y3)
3. Lphy pwnwlynwunt wnwludbwgnd
X242x-8=x2+2x1+12-12-8=(x+1)%-9=((x+1)-3)((x+1)+3)=(x-2) (x+4)
4. vdpwynpdwl Gnwliwy
2ax+2ay+3bx+3by=2a(x+y)+3b(x+y)=(x+y)(2a+3b)
Unwownpwlplbp
1. bGplywlunwdp yEpnwdbl wpmwnphsutph
o w)x2+2x=x(x+2)
o p)Ax*+2=2(2x*+1)
o q)4-8x2=4(1-2x?
o n)4+6x2=2(2+3x?
o hk)15+3x=3(5+x)
o q)-3+12x=-3(1-4x)
2. Cunhwlnip pwnwnphgp nncpn ptiptp hwywastinhg
o w)ax+bx=x(a+b)
o p)am-—ank=a(m + nk)
o a)x’y+xy?=xy(x+y)
o n)p*a*-p*a=p*q(q*-p)
o &) a’bc+ab?c+abc?=abc(a+b+c)
o q) X*y*Z3-xy322+x%y3z5=
o E)2mn3-4m?n-6m?n3
o ) 6p*a*+8p’q*-10p°q?®
o ) a*4a*+5a°
o @) 3x%-x5+2x8=
3. 3a3-1/2a%+1/3-1/6 pwaUwlunwund thwlwadtinhg nnipu ptipbpU2dwd wpnmwnphgp

o w)l/6



o p)1/3
o q)-1/2
o n-2
4.  Upwnwhwjnnipnitup UEpYuwjwgnpte wpunwnpwih wbupny
o w)a(m+n)+(2m+2n)
o p)(3x+3y)-(ax+ay)
o q)(ma-mb)+(a-b)
o n)(ap-aq)-(bp-bq)
o &) (3x-6y)-(2y-x)
o q) (ax-bx)+(3b-3a)
5. dbpinwdte wpunwnphgubph
o W) (x+y)+H(x+y)2+(x+y3)
o p)(3a-9b)-(a-3b)*+(12b-4a)
o  d)(-2m-8n)-(am+4an)+(5bm+20bn)
o n) (4xy)*(y-4x)-(20x-5y)
6. Upwnwhwjnnpyniup UEpYuwjwgnpte pwgqdwunwdh wpunwnpjwuih tnbugny
o W) 2a+2b+ax+bx
O p) ax-ay+3x-3y
o g) m*mn+am-an
O n)5a+5b-ax-bx
o &) ax-ya+x-y
o q)m2mn-2n+2m
o E)a3+5a%+5a+25
o p)x*3x3+3x2-9x
7.  PwqUwlnwdp ybpindtp wpunwnphsubph® wnwbduwgubing (phy pwnwyneuh
o w)a%*8a+15
o p)x*4b
o ) x%2xy-3y?

o  n)m*+7m+10



o &) p%-5p+6
o q)3m*+27m+54
o E)x*+x-12
o p)a*+6a+8
o @) x*x-12

8. PwqUwlnwuJp ybpndtp wpwnwnphgubph
o W) 9x-6x3+x3
o p)36x+12x%+x3
o ) 25x-10x2+x3
o n)x*-12x+35
o &) x*-6x+8
o q)x*-11x+10
o E)x®+x*+1
o p)x&5x*+4
o ) xBx*+1
o  d)x3-3x%+3x+7
o h)x3+3x%+3x-26

o ) x3+3x%+3x-7



